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All the first 10 questions are compulsory. Each question carries 1 mark.

1. Find the sum ot 3* * * 
u9

3 (-+-1) 52. Evaluate :xl- l+ -5\ 6 )2

3. Find the valae ot 14Po.

4. Define a symmetric matrix.

5. Evaluate the determinant of the quare matrix I l.
L3 2l

6: Write the power set of the 
.set A= {3,4} .

7 . Solve the equation 14y -18 - 13 .

P.T.O.



8.

9.

What is annuity ?

Solve the quadratic equation

Find the derivative of y = x2

x2 -5xt6=0.

1_+-+ t .

x
' (10x 1=10Marks)

11 to 22. They carry 2 marks

A =t1, 3, 4,71 B - {2,3, 4, 8}

form the

10.

Answer any eight questions from among the questions
each

11- Prove that Aw(B n c) = (A u B)n (A u c) where
and C ={1, 3,4,9} .
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one exceeds the other by 15. Find the iiirrirbers.

find 2A+ 38

15. Evaluate

i 6. Find the product (p,' - q2 )ep + q)

17. lf y=2x+1 ,prouethat ,'1**!!-v=0.xdx'dx'-

18. Eliminatearbitraryconstants: a and b from z-(x-q2+U-b),
partial differential equation.

19. lr*" d*.
" x-a

20. lf sirnpte interest on a certain sum rs,
the sum.

to

Rs 3GO for 2 years at Go/o per



21. Afterallowingadiscount of I)v"onthemarkedpriceof anarticle,anarticleis'z
sold for Rs. 555. Find its marked price.

22. A man wishes to pay back his debt of Rs. 5,044 due after 6 years by 6 equal
yearly instalment. Find the amount of each instalment, money 

-being 
worth 10%

per annum compound interest. (g x 2 = 16 Marks)

Answer any six questions from among the questions 23 to 31 .They carry 4 marks
each,

23. The base of an isosceles triangle is I cm. The perimeter of the triangle is-3
?

4 *:- cm. What is the length of either of the remaining equal sides?15

24. The table below gives the ages of drivers of cars involved in total accidents
during ilg4ql! year. Draw a pie-diaqram to represent thear. ufaw a ple-otaqram to represe nt the data :

Ages of Crivers Under 20 20-40 40-60 Over 60 Total
Percent cf totals 15 60 20 5 100

27. At what rate percent compound interest per annum with Rs.640 amount to
774.40 in 2 years.

28- Distinguish between Straight Line Method and diminishing balance method.

G - 2516
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i9. 'Fiptj a irei'tial Cilr€rential equation b:y eiiminating a,b,c from

3c. if i, == ae** + be-''r prove that + - m2 y= $ .

dx'

31 .. The :tota! cost funciion (ifi rupees) if x units of a product is

c(x) = y2 +.78x + 2500 and the cemand function !s p = 600 - 8x, when the price

, is'Rs. 1 per unit. show that.ihe nraximum net revenue (ie, profit) is obtainei
, ,r.lhen 29 uniis are produced. Also find the price at which profit is maximums.

(6x4=24 lrlarks)

Afiswel erry t.wo questions fiom among the questions 32 to 35: They carry 15 marks.

:]e. i.,isii'rg Cramer:s rule. solve

t r,- f t' z.-: 6, 2x +3y -z=5, 6x- 2y -32 =-7'

:i:i. Sxpiain ihe need for proviciing dL'pleciation what are the methods of ic'ccrding

C',]pf"eCia'ief ,

(ru) 'i-xi-riain bat' diagrams

ib) Drav{ a simPle bar diagram to
nanufacturing of machines'

'lears 1 984

I'io. of machines 12AC

\rvirat ai'e the advantages of diagram and graphs?

lix.;rlain different types of sets and set operations \r/ith examples.

rAthat ai-e Lhe rules of differeniiation? Llxplain it with examples.
(2 " 15 = 30 Marks)

represent the following figures relating to

1 985 1 986 1gB7 1 988

1 700 1 900 2800 2100

/,. 1

lL,l

35. (a)

(b)
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